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@ at Rod length L
,

mass M

a)

>
I - §x2dm = §x2 . Fax = F. §ox2dx=

y %
= Mz . } L3= 'zML2= I

b) if curlew of the rod is @ origin

I.info#yydx=Mz.tz.2fz)3=izMi=I
.
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= ME ( tztta ) = 'z ME

- -
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@ I×z=Iyz=O ; reflection symmetry in

xy plane
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10.150 I = § § ( x4y2 ) dxdy . amz =

a

• =⇒ My §⇐a3tja)dy=Ma(ja3 .at 'za3a)=
a

Iz×= Izy =D ( symmetry )

~ Izz
= § Ma

2

✓ far Energy conservation ;

# "

Mgaik = Mgat 'zI±z' W
"

w2= Mga ( Jz - i )

#
= 3z Ea . ( if - 1) = wz



10€ •§D••¥° I××± -2 ma . (

yItzI)=m£fo+a2+a2+2aY=8a2m
y*

A)
→

× Ixy , -

I
may ya = -

ma
[ ototata ]= - 2am

X y Z

o o o
Ixz = - [ M£**Z£*=- MA [ otatota

]=
. Zahn

o a o

0 o a

°a8oa I .KZ?ztff.ma2
a a 0

a 0 a

a a a
.

b) Coordinates in units of az : 1
, 1,Y I××= 's,ma2[ 8+8 ]=4ma2

-1 L - 1 Ixyitfhmd[4-4]=0
- 1 1 1

reflection symmetry
z I -1 -1

I= ( §§} ) . Ma I - ( I in XY , yt and zx planes
I L -1 ↳ I should be
1 1 1 diagonal



tea

.ph/#pyyIatEshald

be diagonal
2

→ reflection symmetry in all
2

planes ( xy , yz ,
zx )

2 a

2al¥•l_j
I*=

.

! §
.

city't ,
! dxdy =

a b a

= I § So

lx2ty4dydxzMqf@btsb3dx.n

. My { fittsei)dx= Mz ( tat 's b' a) = 'zm( ate
'

)

2

similarly for Ix×&toy :

a. = }m(boj
"

aloea°L
,
,|



b)
"

Parallel axis
or

theorem
"

I #= Int M ( liei )

•f
A

Ixjt = Ixy - Mab

.€# a .

2 zb "

thy -3 ab - 3ae

A www..at ca.ae )EI;nl¥¥si¥IaIaIeI'tIF;D
-3 a e

- 3 be

c) I = ( w
, 0,0 )

→
a

→

L=
 

IW = 's Mw ( 4lb 't it
,

-3 ab
,

- 3 ae )


